RESOLUTION NO. 49-99 CITY OF CENTERVILLE, OHIO

DAY OF September, 1999.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY ASSOCIATED EXCAVATING, INC. FOR THE SIXTEEN (16) INCH WATER MAIN EXTENSION, YANKEE TRACE-SOCIAL ROW ROAD IMPROVEMENT PROJECT FOR THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Sixteen (16) Inch Water Main Extension, Yankee Trace-Social Row Road improvement project according to specifications prepared by the City, and

WHEREAS, Associated Excavating, Inc. was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Associated Excavating, Inc. for the Sixteen (16) Inch Water Main Extension, Yankee Trace-Social Row Road improvement project, marked as exhibit "A" attached hereto and made a part hereof is hereby accepted in the total bid amount of \$82,341.50. The City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That this Resolution become effective immediately upon passage.

PASSED this 20th day of September, 1999.

Sally D. Beals

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 49-99, passed by the Council of the City of Centerville, Ohio on the 20th day of Scote 1999.

Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney REVISED AUGUST 25, 1999

BID SHEET 1 OF 2

BIDDERS PROPOSAL

	16 INCH WATER MAIN EXTENSION, YANKEE TRACE-SOCIAL ROW ROAD			
Submitte				
	(NAME OF CONTRACTOR)			
Having r	read the specifications and examined the drawings included herein:			
	16 Inch Water Main Extension, Yankee Trace-Social Row Road City of Centerville, Ohio			
for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:				
A. S	STATEMENT BY ALL BIDDERS:			
a	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.			
,	Addenda No Date 8-25-99			

C. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

ITEM	DESCRIPTION	QUANTITY	UNIT	PRICE	COST
1	Remove Existing 16" Plug & Connect Water Main	to 5	EA	150.00	750.00
2	16" X 6" Tee	3	EA	485.00	1,455,00
3	16" X 8" Tee	-0-	EA	-0-	-0-
4	6" Water Valve & Box	2	EA	400.00	800.00
5	8" Water Valve & Box	-0-	EA	-0-	-0-
6	16" Water Valve & Box	1	EA	1.065.00	1065.00
7	16" Bends - 45°	4	EA	525,00	2.100.00
8	16" X 6" Reducer	1	EA	250.00	250.00
9	Fire Hydrant	4	EA	1,500.00	6,000.00
10	Remove Existing 8" Plug and Connect Water Main	to -0-	EA	-0-	-0-
11	16" D.I. Water Main Class 53 with Granul Backfill	ar 365	LF	44.00	16,060.00
12	16" D.I. Water Main Class 53 witho Granular Backfill	ut 960	LF	43.00	41,280.00

EXHIBIT "A"

REVISED AUGUST 25, 1999

BID SHEET 2 OF 2

ITEM	DESCRIPTION	QUANTITY	UNIT	PRICE	COST
13	6" D.I. Water Main - Restrained Joints (Fir Hydrant Leads)	e 56	LF	26.00	1456.00
14	Mobilization	LS	L.S	500.00	500,00
15	Sawcut & Repair Driveways in kind (Minimum 4" Asphalt Thickness)	3	EA	800.00	2400.00
16	Remove & Replace Existing bushes	2	EA	150.00	30000
17	Remove & Replace Existing Pines (Live Trees)	2	EA	300.00	60000
18	Remove 3 Dead Pine Trees and Replace wit Live Norway Spruce, M.H. 5' height	h 3	ËA	300.00	900.00
19	Seed & Mulch Disturbed Areas (Include numinum 6" top soil)	s 3900	SY	085	3315.00
20	Prepare and Place Sod (Contingency)	350	SY	250	875.00
21	Traffic Control & Maintenance	LS	LS	500.00	500.00
22	MCSED Inspection Fees	LS	L\$	\$1135.50	\$1135.50
23	Construction Staking	I.S	LS	600.00	60000
			TOTALES	STIMATED COST	82341.50

D. COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of November 6, 1999.

D. EXECUTION OF PROPOSAL

NOTE: Failure to sign proposal shall result in rejection of bid.
THIS PROPOSAL SUBMITTED BY ASCONIATED EXCHANGING.
BY: Me See OF CONTRACTOR)
SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
DATE: Aug. 31-94 PRINTED NAME)
Contact person for Contact processing: WSVE GIEET OF ROBERT MGYEET
Mailing address: 4301 PTP S HKP
City, State, Zip: 1247(1) (1) 4544 Telephone Number: 7.37-8989/10
Federal Tax I.D. Number: 30/85460 Fax Number: 93/-84863